Spring '05/MAT 117/Worksheet 5 Name: )”( oA Jera Show all your work.

1. (10pts) Do this part on your own. The experiment consists of tossing a quarter 3 times
in a row, Repeat the experiment 40 times. (Thus, you will have tossed the coin altogether

120 times. )
a) Record in the first row below how many times you get each combination of heads and

tails on your 40 experiments,
b) In the second row, enter the empirical probabilities for each combination based on vour

40 experiments.

¢) List all the (equally likely) outeomes of the experiment and use them to compute the
theoretical probabilities for each combination. Enter them in the third row of the table.
Round everything to 3 decimal points.

c) Compute the differences Fp — Pr.
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(more on reverse)




2. (10pts) Do this part with 2 or 3 classmates and turn in your sheets attached (you may
belong to only one group). Write their names to the left of the rows labeled “Classmate”.
Each of you has to fill in the table independently, but the last three rows of this table should
be the same for everyone in your group (check!).

a) Copy the “Tihnes occured” line from above into row “You” and do the same for each of
your classmates.

b) Sum by column and enter the sums in the row “Total”.

¢) Compute the empirical probability for each combination using the totals. The number of
experiments is now larger because you are including your classmates’ results.

d) Compute the differences Pr — Pr. Are they smaller than in the table above? Explain
why they should be smaller,
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Bonus. (2pt) Use the grade computer on the website to answer the following. Take into
account only grades we had before this worksheet and assume you do not have attendance
bonus points.

a) What is your current average in the course?

b} What average would you like to have after the third exam? What is the lowest score you
need on the third exam to have this average?

¢) What is the lowest score you need on exam 4 in ovder to have the desired average from b),
assuming on exam 3 you got the score from the second part of b)?



